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axfn s/

seyfut/ /sf/ls sfof{nosf] xsdf ef*fdf j;lifkt

cfkm\gf] Ighls #/, k:n, Uof/1h, uflbfd, z]*, sf/vis.f jf kflv/ls s'g} Joltmn]

R/} if ef+lzs ?Rdf axjnd] IbPsf]d]

R|Itos*f 10 R|It;0\

k|Itos*f 3 R|It;0\

k|Itos*f 10 R|It0

R|Itos*f 3 K|t

Y 3

cf=j= 2076.077 df nufO{g] s/ z'Ns / drzmsf] b/

1= Jofkfl/s a:t"

X/ 1flg ahf/ pGd"v Iflq
1= sPRo"~/
1=1 sPRo" yfls ligmls s]Gb 2000 1000
=2 sPRo"~ km'~s/ ljgmls s]@b 1000 700
1=3 sPRo"~/ dd{t s]@b| 700 500
2= df]jfOn Xs 1f]lg ahf/ pad"v Iflg
2=1 df]jfOn yfls lijgmls s]Gb 2000 1000
2=2 dfljfOn km'~s/ ljgmls s]Gb 1000 700
2-3 df]jfOn dd{t s]Gb| 500 300
3= fInf/ ;:~d -kftf, Oge~{/ Jofl~« nufot _ ljlgm tyf
h*fg 2000 1000
4= c@o On]d~]18$; tyf 1jB'lto ;fdfulls
4-1 yfls ligm]tf 2000 1000
4=2 km'~s/ ligm]tf 1000 700
4=3 dd{t :DjGwls sfof 500 300
5= kmlg{r/ tgf kmlg{l;+a :fdfgx? ®o 1flg ahf/ pGd'v Iflq
5-1 gf]s ligmltf 5000 1500
5-2 km'~s/ liqm]tf 2000 1000
6= 18df0f sfdfu]ls - xf*{jlo/ ;fdfg X Iflq ahf/ pGd"v Iflq
6=1 gfls lijgm]tf 3000 3000
6-2 km'~s/ ljgm]tf 3000 2000




7= sf+rf] k¥ tyf kmlGils kin K 1flq ahf/ pad'v Iflq

7=1 yfls ligm]tf 2500 1500
7=2 km'~s/ liqm]tf 1000 700
8= vfBfG3 tyf bYlgs pkef]Uo j:t'x? ®e Iflq ahf/ pGd"v Iflq

-1 yf]s ligmtf 1500 1000
§-2 km'~s/ ligm]tf 700 500
8=3 (\of V/lssf] xsdf 500 300
9= ljnf L;tfsf j:t'x? 500 500
9=1 [uRm\» xfp; 700 500
9=1 JO'I"Rfn/, s:d]I~s ;Ixt &'nf] 1000 100
9=2 Jo"I~kfn{/=s:d]1~s ;f3f] k;n 500 200
9-3 Jn'g 700 300
10=;"g rf+Ib Joj;fo

10-1 yfs ligm]tf 10,000 7000
10=2 km'~s/ ljgm]tf 2000 1000
11= uxgf dd{t 1000 700
12= Uof+; jlIN*2 1000 1000
13= r'/fl~+dib/f Jojfo s/ X/l If]q ahf/ pGd'v Iflq

13=1 r'/f]~ dib/f I*n/ 3000 2000
13=2 ;It{hGo =dIb/f yfls ligm]tf 2000 1500
13=3 ;'[t{h@o + dIb/f km'~s/ ljgm]tf 1000 700
14= c*{/ P)* :Rnof:{ - &/ r'dtfsf] efwi/df_ jf Joj:fosf]

R|s[tlssf] efwi/df

14-110 nfv ¢Gbf dfly 7000 5000
14=2 5 b]lv 10 nfv ;Pd 5000 3000
14=3 5 nfv ¢Gbf tn 3000 2000
15= ljz]ift R/fd:{ tyf Jofj:flos ;ljf

15=1 *{3~/ 2000 1500
15=2 slj/fh 750 500
15-3 OlGhlgo/ 1000 750
15-4 n]vfkI(Joj;fols 1000 1000
15=5 clwjQmf gf]/1s KlJns ;d]t gPsf] 1000 1000
16=:gf3ls0 ¢jg [8df{)fsdlsf 300 500
17- n]vf kI/lfs */s Iflg ahf/ pGad"v Iflq

17-1 s ju{ 4000 4000
17=2 v ju{ 3000 3000




17=3 u juf 2000 2000
17=4 ju{ 1000 1000
18= b@t IrlsT;s 1500 1000
19- cg;:Gwigstf{ tyf k/fdz{bftf 2000 1500
20- sPRo"~/ Pgfini~ tyf K|flufd/ 1000 700
21=;e{o/ 500 400
22= cgljfbs 1000 700
23=kz' IrlsT:s 500 400
24= ljdf Ph])~ 1000 700
25= K"n xfp: 1000 750
26 ;jdjg (jfglostf{ JolQm tyf sPRgls 2000 2000
27= 1;d]G~ Jns pBflu 2000 2000

28-= 1gdf{f Joj:fo M gu/kflnsfdf k|wfg sfof{no

ePsf] 13df0f Joj:fo nfO{:]G: gljs/)f b:t/

28-1 s ju{ 10500
28=2 v juf 8500
28=3 u ju{ 7500
28=4 # ju{ 7000
98-5 s/ 'Stf 0 K[1tztnfO{_ 3500
28=6 gof kmd{ eg'dlt b:t/ 25000
29 pTkfbgd'ns pBflu
29-1 sfl/f dfn jf ew{ R|;fllwt dfn jf v)/ u} /x]sf]
din:fdfgsf] jf c@o dfn:fdfgsf] k|oflu jf k|zflwg w/lo
dfn;fdfg pTRibg ug{ pBflu Joj;fo 3000 2500
29-2 rfpldg pBflu 1000 1000
29-3 sfIk pBflu 5000 4000
29-4 af)/f pBflu 3000 2500
295 kfp/fl~ls pBflu 1000 1000
29-6 ufd{G~ pBflu 5000 4000
99-7 s'Afgls [k:fals [Rngls [dn pBflu 2000 1500
29-8 s'~fglo Ik:fglo djq 1500 1000
29-9 ~n/
29=10 ;1~+8\u ;'[~8\u ;Ixtsf] -&'nf] _ 3000 2000
29=11 ;1~+8\u ;'1~8\u afx]ssfl -;fgf] « ;fwiNf _ 700 500
29-12 :fj'g pBflu 1000 700
29-15 bfndf]~ pBflu 1000 700




29-14 v]nf}gf 1000 700

29-15 h"Qf [8df{f tyf dd{t pBflu 1000 700

29-16 d}gjlQ pBfla 500 300

29=17 ¢@o 2000 1500
30- s[lif, ag, jghGo tyf h1*j'Al> pBflu ®s Iflq ahf/ pad"v Iflq

30=1 cu/jlQ pBflu 500 300

30=2 *]I/ pBf]u 1500 1000

30=3 ; Idn 5000 3000

30=4 kmlig{r/ pBf]u 2000 1500

30=5 ("uf++ I;n]~ 500 500

31= phf{d"ns pBfJux? X If]q ahf/ pad"v If]q

31=1 hn>fltaf~ phf{ pTkfbg ugl{ pBflu 10000 10000

31=2 jfo", ;fyof, K|fs[lts tIn, sf]Onf, jfof]Uof; cfibafr

phf{ Ribf ugl{ pBflu 5000 5000

32= Ro{~g pBflu

33= xfl~n, nh tyf /:~/1G~ Joj:fo X/ Iflq ahf/ pad"v Iflq

33=1 xf]*n P)* nh

33-1-1 8 >|)fls - P=1;=, P~lh afy?d, tfind xn,

In=lg=sf] ;ljwf 0'Qm_ 10000 10000

33=1=2 v >])fls -P~]h afg?d, tfind xn, [~=lg=sf] ;'ljwf

0'Qm_ 5000 5000

33-1=3 u >])flo ~fwi)f xf1*n P)* nh _ 1500 1200

33-1=4 /]i~/]G~ tyf rd]gf ulx 1200 1000

33=1=5 ;f8f Irof gf:tf xf]~n 500 400

34- J]if pBflu X/ If]g ahf/ pad"v If]q

34=1 %fkfvfgf + ckm;]~ K|l 5000 5000

34=2 I:s|g IR|G~ 1500 1000

34=3 km\n]9; IR|G~ 3000 2000

34=4 R|of]uzfnf + Nofj 1000 700

545 kmf]~flu|fkmls + kmf]~f]sKls . 700 500

34=6 Izt @)*f/ 5000 3000

35=:+rf/ 3lif X Iflq ahf/ pad"v Iflq

351 glolh If]gsf ~]Inkmflg kKm\ofS; :]jf kmf]~flskls

dflifOn kmflg cfO P; *Is P; 1~ 1* Od]n 0G~/g]~,

/I1*of] R]Ih2 efbls 1500 1000

35-2 8'1/0/ 1lif 1500 1000




35=3 I/hfh{ sf*{ yfls ligm]tf 2000 2000
35=4 ~]Inkmf]g ;jf

35-5 glolh If]qaf~ ;+rfint Allnkmf]g :]jf R|bfos

sPRgls - zfvf = Jif ;ring _ 10000 10000
35=6 Joj;fod'ns ~fi/ ;+rfng -1jB't, ~]insd, X]Nnf],

o'l~on nufot_ ~fi/ 1gdf{)f ubf{ tkizn adf]lhdsf] b:t/

nfUg] % .

35=6=110 Ikm~ ;Pd 5000 5000
35=6=2 11 b]vls 20 [km~ ;©d 10000 10000
35=6=3 21 b]vls 30 [km~ ;Pd 15000 15000
35=6=4 31 b]vls 40 [km~ ;Dd 20000 20000
35=6=5 41 b]vls 50 [km~ ;Dd 25000 25000
35-6=6 50 [km~ ¢Gbf dfly 35000 35000
35-7 0G~/g]~ 3ljf k|bfos sPRglo 5000 4000
35-8 kqklgsf 1000 1000
359 :yfglso:t/af~ R|zfl/t ~]Inlghg 2000 2000
35=10 PRm=Pd-=/]1*of]

35=10=1 250 jf~ Ifdtf :Dd 1500 1500
35=10=2 250 b]vls 500 jf~ ;®d 2000 2000
35=10=3 500 b]vls dfly 2500 2500
36- Lzljf ;ljf X/ If]g ahf/ pad"v If]q

36=1 181h :8"n SofPK; :yfkafy{ Lkmfl/; b:t/ 3000 2000
36=2 I1glh :s"n SofPk;sf] tyf ;Hifs ;+:yfsfl Jojfo s/

56-2-1 Iglh cfwi/e't 1500 1000
56-2-2 Iglh djf-1j- 3000 2000
36-2-3 Iglh SofPk; 4000 2000
56-3 tfInd cg";Gwjg.lk ljsf: cg:Gwjg s]Gb| 3000 92500
36=4 sPRo"~/ O1Gi~Ro"™ tyf efiff R|lzI))f ;+yf 2000 1500
37=- N\o":g tyf sflird\u ;]G

37-1 df-lj- tx :d 1000 700
372 df-lj= tr ¢Gbf dfly 1500 1000
37=3 tof/ls slff -1jle@g cfoflu tyf RI/Iff_ 2000 1500
38- 1jIQo 3Jjf ®s 1f]lq ahf/ p@d"v Iflq

38-1 ljb];lo d'blf ;~xlo ugl{ sPRG + zfvf 2000 1500




38-2 dig ~AJGRm/ :DjGwls sfo{ = /]IdA\0fG; sDRgls

= zfvf 2000 1500
38=3 Iwtflkq ;PjQwls sf/fljf/ ugl{ sPkglo = zfvf 2000 1500
384 1jdf sDkglo 5000 5000
38=5 ;xsf/ls at}s 3000 3000
38-6 g]kfn ffir« a+tsaf~ dfGotf R|fRt a+}s tyf 1j1Qo

;+gf tyf ltgsf zfvf sfof{fnox? M

38=6=1= s au{ -jf)fHo a+}sx?_ 25000 25000
38-6-2= v ju{ -ljsf; a+}sx?_ 15000 15000
38=6=3=u ju{ -1jQ sPRGLR?_ 10000 10000
38=6=4= # au{ -n#' 1jQ sf/fljf/ ugl{ jIQo ;+yf 5000 5000
38-6=5= ;xsf/ls jrt tyf OFf Rl/rfng ;d"xx? -jflif{s 5

nfv ¢Gbf jl(sf] sf/flif/ ugl{_ 1000 1000
39=:jf:Yoljf M X/ 1flq ahf/ pad"v If]q

39-1 Iglh e:kifn 5000 5000
39=2 gl;+2 xfld + kf]InISnigs 5000 5000
39-3 ISnlgs tyf Nofj 2000 1000
39=4 *])~n x:Rlorn 5000 4000
40= cf}ifwls Joj:fo

40-1 I*n/yfls 5000 4000
40=2 v'b|f+km'~s/ 1500 1000
41= dd{t ;Pef/ Jjf M ®s Iflq ahf/ pad'v Iflq

41=1 x]lg 0s0'jd]G» -a;, ~«s efbls _ 2000 1500
41=2 xn'sf 0s0'jd]@~ -sf/, Ihk, ~0fS;lo efblo _ 1500 1000
41=3 ;fOsn, /]1*of], I~=lg=, K|]/s's/, [x~/, ~]Inkmf]g

;1~ OTofbls dd{t 300 300
41=4 ~fof I;f]In+2 2000 1500
41=5 ~fo/ dd{t 1000 700
42- cGo ;ljf ®s Iflq ahf/ pad"v If]q

42-1 ljlfkg :]jf = PhlG;ls 1000 700
42-2 JOgjfI*{ agfpg] + KIIGA+u ;i 1000 500
42=3 a}bllzs /flhuf/ ;ljf k|bfos 10000 8000
42=4 :jb;ls /flhaf/ 31if R|bfos

42=5 kK|wfg sfof{no 1000 1000
42=6 zfvf sfof{no 3500 500
42=7 ;Jqm]~l/on ;)jf 500 500




42=8 xfplh+2a sDkgls tyf #/hUuf vI/b ljlgm -1/on

A~ 5 /flkgls :Pd 15000 10000
42=9 xfplh+2 sPRkgls tyf #/hUuf vi/b ljlgm -1/on

Al~_ 5 /flkglo ¢Gbf dfyl 25000 20000
42=10 *4O 1Sng{ 700 500
43= k2" awzfnf X/ 1flq ahf/ pad"v If]q

43=1 /f+uf df; ligm]tf 1000 700
43=2 a+u/ df; ligmtf 1000 700
43=3 vilo dfs' ljgm]tf 500 400
43=4 s'v'/f kfng Joj;fo 500 400
43-5 df%fking Joj:fo 500 400
43=6 s[lif tyf kRz"k+1If Jojsfo 300 400
43=7 R|m]; xfp; tkm{ ®/ls Iflq ahf/ p@d"v Iflq

43-8 jRrf bfgf 1000 700
43=9 df;' ligm]tf 1000 700
43-10 df%f ligm]tf 500 400
44= kmnkm'n tgf h"; Joj;jo ®slflq ahf/ pad'v If]q

44-1 I"n/=yfls 1000 700
44=2 v'b|f+km'~s/ 500 400
45= 0~f pBflu

45=1 [rPgls pBflu 7000 7000
46= Pulfl ;16 <Pulflel~ 1500 1000
47=R"ts tyf :~1;g8/ls

47-1 yf]s ligmltf 2000 1300
47-2 V'b|f-km's/ ljgm]if 1000 700
48=1u|n pBflu

48=1 lu|n pBflu 2000 1500
48=2 #/In" kRmnfd pBflu KPR/fut cf/8 afxls 500 400
49= uf*losf] Rf~{; 1jgm]tf

49-1 df]/ Rf(: ljlgm 2000 2000
49=2 df]~/ ;fOsn Rf~{; ljgm]tf 1000 1000
49-3 j*ls N*{ 5000 5000
49-4 sjf*ls Joj;fo 3000 3000
50= uf*lssf] I*n/

501 rf/ kf2\u|] uf*ls 10000 10000
50-2 df]*/ fOsn 5000 5000
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50-3 ;fOsn 1000 1000
51= efon I*n;{ -RPR xfp;_
51=1 I*hn . K]~fn 10000 10000
51=2 dI§t]n 2500 1500
52= uNnf k;n 1000 750
53= Uof; I"n/ 2000 1500
54~= sn/ Nofj 1000 750
55=1dg/n jf~/ pBflu 5000 5000
56= g:{/ls pBflu 500 500
57= 1;;f RnfOp* ljgm]tf 1500 1000
58= gf+*fs"*f ljgm]tf 1500 1000
59= sla"n, gl+jls{+u 5000 5000
60=:fO)/ Sofkm] 1000 750
61= tinf v'nfpg] ~ #/wglsn] alxflg"{kgl{ _ 200 200
63= nfls bflxfl/ls ;f+em Joj;fo s/ 2000 1500
64= c:yfols xf~ jhf/ #"19t Rn 500 400
65= rf}kfof R|ltafl~f ~ufO, ek, /f+uf, uf]?, Rf*f,
Rf*ls cfbls k|Itlbg 200 200
68= s@;N~]G;ls
68-1 s@;N~]G:Ls btf{ afkt 4000 4000
68-2 s@;N~|G:ls glis/f 2000 2000
T ¥

69= hi*a'~l, sjf*ls / hlojhGt' s/ s Iflq ahf/ pGd"v Iflq
69=1 vf]~f] Jojsfols Jojifo s/ 3500 1500
69-2 vf|~f] 18sf:lo R¥&J/ls k|t $]=hls= 0.50 0.50
69-3 hl*j"1~ vI/b ljlgm 3000 3000
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69=4 sjf*ls Joj;fo 3000 3000
69-5 bfnlrgls, Ind/ k¥&f/lo k|1t s]-hls= 0.50 0.50
69=6 lo jfx]ssf eGo 1500 1500
AT ¥
70= ;jf/ls ;fwg s/ ®/o 1flq ahf/ pGd"v Iflq
fi{hlgs Kl/jxg
70-5 ceMIS;fsfl jflif{s 5jf/lo s/ 300 200
70-6 cMI/S;fsf] g+= sfod z'Ns 100 100
T &
71- lalfkg s/ X 1flq ahf/ pad"v Iflq
71-1 1jljRg fdfuls K|t j=Ikm= 10 10
71=2 ;f8f Isl;dsf R|rf/sf afl*{x? 10 j=Ikm=;©d 100 100
71-3 Jofg/ fi{hlgs :gfad] k|ltid~/ 12 1bg:Ddsf] nfuls 6 5
71-4 1 1d- / 1 a-1km- :Ddsf] 1jlfkenfof 1 dixef :Ddsf] nfuls 3 2
71-5 bkmf # ¢Gbf al( ;dosf] nfuls ljlfks /fVa'k/]df 5 3
71-6 1iB't kfInd] KIIG~+u aglinfO{ K|It juf-1d- K|t kflnd] 5 4
72- dgfl/~hg s/ #s Iflg ahf/ p@d"v Iflq
72-1 rnirq dIGb/ dgfl/~hg s/ dfl;s 500 500
72=2 rnlrq dIGb/ Joj;fo s/ 1000 750
72=3 hib', :s{;, r~s efbledf k|ItIbg 200 200
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72-4 /djOn]] dlnf: dxf]T;j K|ltibg

1500

1500

73= axfn 1jf}/ls zNs M X/s 1flg ahf/ pad"v Iflq
751 g-kf-nl- cfkm\gf] Iflqd] efkm'n] Igdf0f. /vblb, ~rfng w/lsf] B 8
xf~ ahf/ / fi{hlgs :yn Plnfgls hUuf jf af~flsf] %]pdf e:yfols kn
yfRg IbP jfkt k|1t ju{ Rm'~ -aflif{s f*f_
AT R
4= ;jf/ls Rfls{® z'Ns bligs ?
fi{h18s Rl/jrg
$= a;, 1dlgj; 100
V- Ihk, dfOqmf], NlofS:ls 50
u- Islh KI/jxg 50
#= df]~/ fJOsn+:s"~ls 20
a- cI/Ssf 20
Slﬂq:'cil qo0
I;=g+= 1§iNf z'Ns ?

75-1gj]bg LRmfl/; tkm{

13




$= SwiNf LRmfl/; 100
V- ~Inkmf]g Lkmfl/; kmf/fd ;Ixt 200
u= 1jB"t 1d~/ LRmfl/; kmf/fd ;1xt 200
#= 1jB"t [d~/ LLRmfl/; w/firls sRrls #/-83:f Rf; defsf] xsdf_ 500
a- 1iB"t 1d~/ Lkmfl/; w/fi~ls kSsls #/-88:f Rf; sefsf] xsdf_ 2500
r= viglkigle LRmfl/; Rmjf/fd ;Ixt 200
Yo= gfu/lostf=R|ItnlsRls [Rmfl/; Rmf/fd ;d]t 100
h-= ;h{ldg sIxt Lkmil/; 250
gm= k1G;8 LRmfl/; :jbl;ls 150
~f= k1G;g LRmfl/; gf/lto 500
A= R1G;8 ;kmfl/; t]>f] d"n"s 1000
&- k1G;8 gfd;f/ls :jbl;lo 200
* R1G;8 gfd;f/ls ¢f/lto 700
- RIG:g gfd:f/ls t1of] d'n"s 1000
)j- Rl ~f] R|dfDft -k[1t kmf/fd 200
76= kmf/fd ljlgm tRm{ M
$= 89;f Kf; Rmf/fd
1= RISs #/ 500
2= sIRr #/ 300
V= ;PRIQ s/ kmj/fd 18z'Ns
u= c@o kmf/fd 300
77- as; kg Lkmjl/;
$= tlog R":tf leq 750
V- tlogg K":1f jfIx/ 1000
78 c@o L;kmfl/;
5= hUuf gfd;f/ls ;kmfl/; 300
v= hUuf wig R|df)f R'hf{sf] R[ItInkls I;kRm{l/; 100
u= Sftf R|dfDft eGo R|oflhg ;Ih{ldg ;Ixt 200
#= c:yfols a;flaf; Lkmfl/; 200
a- Slissf ufli;x?nfOf xfnsf] j*f 8+ LLkmfl/; :jb]zls 18z'Ns
r= km/s km/s gfd Pp~} ¢Gg] Rmfl/; ;fdfGo 100
laif]z j}b]lzs R|of]lhg 1000
h= clus[t gfu/lostf LRmfl/; 300
gm= 3fd ;+zflwg LRmfl/; 100
~f= #/af~f] Lkmfl/; kmf/fd ;d]t 500
~= pBflu Lkmfl/; 500
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&- rf/ IsNnf R|dfDjt 500
. d[To" K|t 35 Ibg lgq 18z'Ns x'g] 100
e hGd btf{ K|dfDjt 100
)= ljjfx btf{ k|dfDjt 100
- a:of YfO{ K[dfDjt 200
Uf-= rfnrng R|dfD)ft 100
b- skfnls td:'s K|dfDft 500
w- hflt k| dfDjt 50
79- a}bllzs K|oflhg tkm{sf ;kmf1/;x?

s hGd [dit k|dDft 1000

1000
V= ljjfr=cljjflxt Rmfl/;

1000
u= &lufgf k| dfDjt

1000
#- rfl/Igs K|dfDjt

1000
a- :gfols asfljf; 1;kmfl/;

1000
r= gfd kn/s a}b]lzs K|oflhg

1000
%= gitf k|dfDjt
h= Slissf afli;r2nfOf xfnsfl j*f 8+ Lkmfl/; 1jb];ls k|of]hg 100
em= cfoflt R|dfft 1jb];ls k|oflhg 1000
~f= s/ 1Snl/o@; ;Rmfl/; 1000
A= ol afx]ssf e@o L;kmfl/;x? 1000

80= gfd;f/lo L;kmfl/; tkm{
$= vig]kflg 1iB't gfd;f/ls LRmfl/; 500
V- ~linkmflg gfdsf/ls LRmfl/; 500
u= #/ 85;f 8fd;f/ls b:t/ -vl/b ljlgm_ 1000
u=1 cz+a)*f / d"To" gfd;f/ls 200
#= #/ 13dj{f ;PRG8 K|df)fRg 500
2 Rlzf Joj;fo gfd;f/ls -Psf#/_ 100
r= pBflu JofRf/ &f+p;f/ls 1000
Po= pBflu Jofkf/ gfd;f/le -vl/b ljilgm_ 500
h= e~ 1/S:f gfdif/ls 100
em= ce~lI/S;fsf] g+= sfod z'Ns 100
= cfGtl/s /fhZj sfofino jf #/In'df Joj;fo btf{ ;kmfl/; b:t/ 300
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~= nut s§f LRmfl/; 300
&= q+# +gf LRmfl/:=8lis)f 500
)f= gubls /1;bsf] R|[tInkls 50
81= dfllx nut s§f 1;kmfl/;
5= 3 /flkgls ;9d 100
v= 3 blvls 10 /flRgls ;Pd 200
a- 10 bvls 15 /fkgls :Pd 300
#= 15 /flkgls ¢@bf dfly 500
82=Joj;fo btf{ L,kmjl/; tkm{

$= dib/f = r'/fl~ Jojsfo LRmfl/; tkm{ M

c- *n/ + yfls 2000
cf= v'blf + km'~s/ 1000
v= 83=dIb/f + r'/fl~ Jojifo afxlssf LRmfl/; tkm{ M

c- *n/ = yfls 1500
cf= v'b|f = Rm'~s/ 700

84= #/ sfod Lkmjl/;
$= RSsls 1000 au{ Ikm~ ;Pd 1000
V= kdsls #/ 1001 ju{ [km~ ¢@bf dfly 1250
u= kSsls #/ ;DRGS LLRmfl/; -cflz+s_ 500
# 1~8n] %fPsf] 200
a- v/n] %fPsf] 19z'Ns
r= 2v sfA\g ;kmfl/; -lakbaf~ hf]lug_ 200
85=;fj{hlgs ;"ljwf pkeflu ;ljijz’'Ns
5= Jfraf sfA\gl / df;' ljlgm agl{ ;+u R|ltuf]~f 2= 50
awzfnf K|oflhg vils, aflsf, eI*f sf\g] / df;' ljlgm agl{ :+u

- R|ltuf]~f 2= 50
a= /f+uf ek;ls JofRf/ ug{ Nofpg] + nthfg]sf] nfuls k|1t Ihp 100
#= hUuf gfR 89;f z'Ns -cldg z'Ns _ 1000

86= #/ hUuf d"Nofs+g l;kmfl/;

z'Ns ?

1ibl;ls K|oflhg

R|Itos*f 15 RY:f

;jblile k|ofhg

k[Itos* 10 RYf
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87= #/ 88;f Kf; tkm{

#/ aff] k|df)jt

500

hUuf gfkls, nf]s];g, O~ Rnfg ;lif ;"Ns / K|ltigwls z"'Ns

500

sPRfp)* ifn K|t /1g+u Rm"~df

88= af~f] s~fg tkm{ :ljf :"Ns

kSsls ;*s K1t j=1d= 2000
ullen ;*s K|It j=Id= 20
89= pBflu :yfkgf tkm{ M
5 x4 Kfi/ ;9d 500
10 x{ Kfj/ ;d 1000
15 %{ kfi/ ;9d 1200
20 x{ Kfj/ :9d 1500
25 x{ Kfi/ ;d 1800
30 x:{ Kfi/ ;d 2000
33 x4 Kfjy/ ;9d 2500
40 x{ Kfj/ ;®d 2800
40 x:{ Kfi/ blvls dfly 3000
30 x:{ Kfi/ ¢Gbf dfly R|b'ip)f z'Ns 3000
90-= t/sf/1s d)*losf] b//1~df gefpg] Jofki/ls hU/jfgf
t/sf/ls Joj;fols RIxnf] k~s 100
t/s§/1s Jojsfols bfl>fl k~s 200
t/sf/ls Joj;fols t]>f] Rrs 300
91= ~fln ljsf; pBId ;+:yf tkm{
pBdls :d'x btf{ ubf{ 300
glis/)f 200
k|df)f kq K|ltInkls [bbf 50
92= /:kmfO{;lif ;"Ns
S RmfOL;lif 2'Ns 1000 j=Ikm= ;Ddsf] #/df k|ltdIxgf 100
SRmfO{ljf 2'Ns 1001 blvls 2000 j=1km= ;Pdsf] #/df R|ItdIxgf 150
SkmfO{ljf 2'Ns 2001 j=lkm=¢@bf dflysf] #/df k|ItdIxgf 200
%fln s ju{ k]It dIxgf 300
%flrn v ju{ R|It dixgf 250
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r= xfln a ja{ kIt dixgf 200
%= &Inf (finlo /;kmfO ;]jf z"Ns K|ItdIxgf 100
- km]IG; Kn R|1t dIxgf 100
gm Rmnkm'n t/sf/ls k;n 150
kmlg{r/ k:ndf R|ltdIxgf 100
93=;*s jlQ dx:"n tyf Joj:yfRg z"Ns dfl;s 5
8= ;*s j1Q dxz'n z'Ns 1000 j=lkm= ;Ddsf] #/df k|ltIbg )
V= ;*s j1Q dxz'n 1001 b]vls 2000 j=Ikm= ;Pdsf] #/df k|ltIbg 5
u= ;*s j1Q dxz'n 2001 j=Ikm=¢@bf dflysf] #/df k|ItIbg 7
94= c@o
$= c:yfols #/, ~x/f agfO Joj;fo u/ls a:gInfO{ ~x/f jgfP jfkt yk 1000
95= hUuf ljsf; sfo{qmd
s= 1 /flkgls ;Ddsf] hUufdf 3000
v= 1 /f]kgls b]vls 3 ff]kgls ;Ddsf] hUufdf 5000
u= 3 /flkgls b]vls 6 /flkgls ;Pdsf] hUufdf 10000
#= 6 /flkgls b]vls 10 /flkgls ;Ddsf] hUufdf 15000
a- 10 /fIkglo b]vls 15 /f]kgls ;D dsf] hUufdf 20000
r= 15 /fIRgls b]vls 20 /f]kgls ;P dsf] hUufdf 25000
Yo= 20 /flkgls ¢Gbf jI(;a} 30000
96= su/kflnsfsfl ;PRQLs ef*f jfkt
$= g=Rf=sf] dofsxf] nfl*/ ef*f k]It #)~f OGwg ;Ixt 2100
V= g=Rf=sfl=Jofsxfl nfl*/ ef*f k|t #)~f Ogws afxls 1200
u= 8=Kf= sf] ["RR/ ¢f*f K|Itibg -OGwg afx]s 8 #)~fsfl _ 4000
#- g=kf=sf] :3;1;8 N\of+s K|t I~k 5000
a- g=kf=sf] vIn dibfg K|oflu u/ljfkt R|ltibg 5000
r= g=Rf=sfl sIRr #/ ¢f*f k]It sf1&f dfl;s 800
o= 8=Rf=sfl j*f sfof{no xnef*f k|ltblsg 300
97= %f*f rf}kfof hl/jfgf k~s} IRR%]
$= afof, uf]? 300
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= vRr*, awf, #f1*f 300
u= v;ls, afv|fl, e]*f, Rofe\u|f 200
r- /f+af] ghlo 500
Y%= ;R\uY/, a+u/ 200
98= %'~ "jwf
$= ;PRQLs 8/ tgf Jojsfo s/df %'~ ;"ljwf
>fj)f blvls ¢f1Zjg ;9d a"emfPdf 10%
V= #/ 39 Rf;df %"~
hUufwgls dIxnf, bint, eNk;+Vos ¢Psf] xsdf #/ [3df)f ug{ 85;kf; 159
ubf{ nfUg] /fhZjdf %"~ K|1t;t
g=Rf=sf] :jfldTjdf /x]sf] x]le O{So"Rd]G» dfl;s ?Rdf Psd'i~ clu|d 50,
u= a'gmfO ¢f*fdf Inbf tfllsPsf] b/df 5% %'~ x'38]% .
99-= #/ 88;f Kf; b:t/
tof
[;=g+= ) 2"Otnf R|It | Rixnf] tof k]It | Df]f] tof ]It
#/2f] 1slid j-1km- j-Tkm- j-1km-
s= ahf/ If|qdf -1000 j=1d=¢@bf sd Iflgkmn ¢Psf]_
1= k[m]d :~r/ O+f if Inssf] ufx|f] ¢Psfl B) 4 3
2= nf]* ljol/2 cf/=l;=1;= %fgf ePsf] 4 3 2
3= nf]* ljol/2 :n]~ / hitfsf] %fgf ePsf] 3 2
4 s~]h 3 2
v=ahf/ pGd'v ,u|fld)f Iflq -1000 j=Id=¢Gbf sd Iflgkmn ¢Psf]_
1| Rlmld :~8r/ O~f jf Jnssf] ufx|f] ePsfl 4 3 2
2 | nf]* ljol/a cf/=l;=1;= %fgf ¢Psfl 3 2
3 | nfl* ljol/2 m]~ / h:tfsf] %fgf ePsf] 2 1.50
4 | s~]h 1 1
s= ahf/ Iflqdf -1000 j=Id=¢@bf a(le Iflgkmn ¢Psf]_
1= Rlm]d :~Sr/ OAf jf Inssf] ufx|f] ePsfl 6 5 4
2= nf]* ljol/2 ef/=l;=1;= %fgf ePsfl 5 4 3
3= nf]* ljol/2 m]~ / h:tfsf] %fsf ePsfl 4 3 2
4 s~h 5] 2 1.5
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&'nf ;1k8 dxn,c:ktfn ¢jg, xf]~In, snlh, J/sf/ls ¢jg, x?sf] xsdf K|t ju{ Id= ? 12 sfod ul/osf] % .

cg';'rls 11
Ro{~8 z'Ns b}lgs ?
§= a;, 1dIgj; 300
V= 1hk, dfOgm{], ~of$;ls 300
u- 181h Kl/jxg 200
#= df]+/ ;fOsn=:s"~ls 50
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